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— IR0t HAZHE MY 2= WEH 1,250
el=g! M 250& *5,0000H 1,250
J| 1,000
Al 250
308 XXM SO A 9,050 0 9,050
J| 7,240
Al 1,810
10 B2 SO BAEHH A 9,050 0 9,050
OoeAMOIe =230 =2 X 2 &HI(296)
7,875,000 » 14! 7,875
J| 6,300
Al 1,575
OLLZ 2aots &xd(209)
625,000 » 14! 625
J| 500
Al 125
OoeMOIe o2+a it P23 & (45)
550,000 » 14! 550
J| 440
Al 110
Ol=0t ¥ AdFH0l&0t 2=l XI& 99,652 113,618 A 13,966
J| 49,826
Al 49,826
307 glz2+ol & 99,652 113,618 A 13,966
J| 49,826
Al 49,826
01 22724l 99,652 113,618 A 13,966
Ofl=o0t & d&FH0l&0F =4l K& (75Y)
99,652,000 » 14! 99,652
J| 49,826
Al 49,826
FAENME JASL oFZH X 6,000 6,000 0
J| 3,000
< 1,500
Al 1,500
308 XXM SO0l A 6,000 0 6,000
J| 3,000
= 1,500
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2N HLSE
Bu: AYET
Rl SUEAHAIY (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al 1,500
10 2| 2SHUSHE A X HE A H] 6,000 0 6,000
OFALAEMDAAMESAMOSHI X (A EXREHE
2 EZ) 1,200,000 x5 6,000
J| 3,000
& 1,500
Al 1,500
Helols2a e XA H 452 854 363, 142 89,712
J| 225,000
& 112,500
Al 115,354
201 LBt ]| 1,500 1,500 0
01 AP 22| d| 1,500 1,500 0
Ogbt4=24| 1,500
—elolsaz2eNJALE S22 HE 1,500
RPN 1,500 *1,0007H 1,500
202 o4l 1,354 1,642 A\ 288
01 2L Y| 1,354 1,642 A 288
OoglolZ2al e XMy 925 35 =
A0 Hi 225,600 x3H 23| 1,354
307 QI2t0| & 450,000 360,000 90,000
J| 225,000
& 112,500
Al 112,500
05 QIZtRES 450,000 360,000 90,000
OeloIsA22XNJHE 29 A
450,000,000 =10 £ 450,000
J| 225,000
= 112,500
Al 112,500
SHOSHAXNA(EZZNHEHEF) 2,043 2,048 Ab
J| 1,021
& 511
Al 511
308 XNXIGHHMSO0l& 2,043 0 2,043
J| 1,021
& 511
Al 511
10 2| 2SHUSHE A X HE A ] 2,043 0 2,043
ORXNEAHLE S M (ZUHAEEH B KE
=) 2,043,000 =14l 2,043
J| 1,021
= 511
Al 511
NAE AR o2 HI XS 41,000 0 41,000
J| 20,500
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307 21201 & 41,000 0 41,000
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Al 10,250
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O1N?IE T 2AZHIXA 1,000,000 »41H 41,000
20,500

10,250
10,250

=z X

JNMFAH ZM2H AL 80,444 0 80,444
40,222
20,111
20,111

=z N W

308 MtXIEHMSOIH 80,444 0 80,444
40,222
20,111
20,111

= MW

1037 2SoHUS 34N ASH 80,444 0 80,444
OJIMA ZHEFAE XA (395%)
80,444,000& * 14! 80,444

40,222
20,111
20,111

= N H

,546 0 7,546
73

Al 773

307 glztol & ,546 0 7,546
73

Al 3,773

W N |w w N

H

01 AZL P2 7,546 0 7,546
OZZ&=Xel8 XA 1,078,0008 +7% 7,546

3,773

Al 3,773

2l

02
0
Mo
02
[N
==
™
o
Ol
P
[

355,063 373,966 A 18,903
129,939

23,800
Al 201,324

hn X

Jl=23H(AZSa ) 77,719 77,620 99

2z (A2Sa ) 77,719 77,620 99

201 L Er2A | 18,940 18,940 0
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il
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] 18,940 18,940 0
12,136
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150,000 14| 150
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e
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SN ALSED
HE: HYRIFH (ALSAD)
chel: =AY (ALEAD) (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— SAEX 20,0003 x 10 A 128 2,400
— SAD X2e(ed ¥ EU FLYS)
480,000 »2CH x4 3] 3,840
—OEE RAU(EHTY S)
237,000 »2CH x4 3 1,896
— WA X 2el 110, 0002 »1CH =23 220
— 25D #=2ldl 300,000 »1CH »23] 600
—QZE) A2E 7Y
Z S 33,0002 1020 = 1CH 330
O= &l 6,804
—AYBHARET S20HA Y|
7,000 +27H «33|x128 6,804
202 4l 54,999 54,576 423
01 = LH A HI 54,999 54,576 423
OALZTLLEA 20|
20,0003 27«8 128 51,840
OALZAALEE 201t
225,600& x2H +73| 3,159
203 ¥R =&l 3,780 4,104 A 324
04 FANSEH =L 3,780 4,104 A 324
oA &t 350,000& = 12& x90% 3,780
ol 2 gl 277,344 296,346 A 19,002
J| 129,939
< 23,800
Al 123,605
KNAAMNE S8 ALSTAL (H2E2AHAAH22) 172,000 194,000 A 22,000
J| 86,000
< 17,200
Al 68,800
101 14 Hl 172,000 194,000 A 22,000
J| 86,000
< 17,200
Al 68,800
03 RIHAZ 2 E =+ 172,000 194,000 A22,000
OYIREHAY dgoxd o2 (7H)
172,000, 000& 14 172,000
J| 86,000
< 17,200
Al 68,800
NMNs S8 ALSEMYG (HLHEMLAIS 2 44,000 44,000 0
)
J| 22,000
< 4,400
Al 17,600
101 @14l 44,000 44,000 0
J| 22,000
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SN ABAY
M HYHAY|(HAZSZT )
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 4,400
Al 17,600
03 RIAHA*ZZ2XE S 44,000 44,000 0
OAHALSEY MAAIY 21822 22,000,000 «2H 44,000
J| 22,000
= 4,400
Al 17,600
KGAE Za SHIXRAMEIA(SHE2|HR) 22,000 22,000 0
J| 11,000
< 2,200
Al 8,800
101 21 214| 22,000 22,000 0
J| 11,000
o=} 2,200
Al 8,800
03 2IHAZ2ZXNHE = 22,000 22,000 0
O2HZ22IYAY o8l 22,000,000 x1H 22,000
J| 11,000
= 2,200
Al 8,800
ZINELXHUEESSSHEHARE L 21,878 21,556 322
J| 10,939
Al 10,939
101 Q124 H] 21,878 21,556 322
J| 10,939
Al 10,939
03 RIAHL*ZZXHE = 21,878 21,556 322
O2JIE4 LTS SSHH ARY
21,878,000 x1H 21,878
J| 10,939
Al 10,939
ledHY|(HAASX ) 17,466 14,790 2,676
101 124 4| 17,466 14,790 2,676
03 RIHEZZXHE = 17,466 14,790 2,676
OAHLSA RIHAES 4UEE I E2E= 17,466
— =98z 148,652,000 *1.5% 2,230
— AMHEE 2 148,652,000 =2 .508% 3,729
— dAEBsE= 148,652,000 *3.04% 4,520
— LOoIAHARAEHES 4,520,000 *6.55% 297
— Z0HAZEE =S 148,652,000 *4 . 5% 6,690
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